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Sentence Match Quiz for Category: present_ser_1 
Mark the sentence that matches each item below. 

1) Uds. son inteligentes.
- A: You all are intelligent.
- B: She is pretty.
- C: The boys are blond.
- D: The history class is boring.

2) Ella es guapa.
- A: You are tall.
- B: It's a hard job.
- C: The chair is yellow.
- D: She is pretty.

3) Este pantalón es demasiado estrecho.
- A: These trousers are too tight.
- B: You are tall.
- C: The fat man is a doctor.
- D: You all are intelligent.

4) El español es una lengua importante.
- A: My brother is tall.
- B: That's an interesting idea.
- C: She is pretty.
- D: Spanish is an important language.

5) La moneda es plateada.
- A: The coin is silver.
- B: Her eyes are sky blue.
- C: The (female) teacher is thin. (feminine singular)
- D: We are pretty.

6) Mi hermano es alto.
- A: These shoes are very comfortable.
- B: She is pretty.
- C: My brother is tall.
- D: You all are intelligent.

7) La silla es amarilla.
- A: The chair is yellow.
- B: Spanish is an important language.
- C: The bus is old and small.
- D: The coin is silver.

8) Ud. es alto.
- A: The coin is silver.
- B: The bus is old and small.
- C: You are tall.
- D: The fat man is a doctor.

9) La maestra es delgada.
- A: The (female) teacher is thin. (feminine singular)
- B: My brother is tall.
- C: They are my sisters.
- D: The history class is boring.
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(continued) Sentence Match Quiz for Category: present_ser_1 
Mark the sentence that matches each item below. 

10) Tú eres muy cómico.
- A: You are very funny.
- B: You all are intelligent.
- C: She is pretty.
- D: Uncle Pablo is intelligent.

11) La sandalia es de cuero.
- A: The boys are blond.
- B: The sandal is leather.
- C: You all are intelligent.
- D: The coin is silver.

12) José es una persona tranquila, pero hoy está molesto.
- A: José is a very calm person, but today he is upset.
- B: The bus is old and small.
- C: She is pretty.
- D: The orchard is big.

13) La clase de historia es aburrida.
- A: The bus is old and small.
- B: The history class is boring.
- C: The orchard is big.
- D: The burgers are very good.

14) El hombre gordo es médico.
- A: The fat man is a doctor.
- B: The burgers are very good.
- C: You all are intelligent.
- D: I'm from Mexico.

15) El equipaje es nuestro.
- A: The luggage is ours.
- B: They are my sisters.
- C: The bus is old and small.
- D: The coin is silver.

16) Esta camisa es muy bonita.
- A: Spanish is an important language.
- B: This shirt is very pretty.
- C: She is pretty.
- D: You are tall.

17) El bus es viejo y pequeño.
- A: The bus is old and small.
- B: You all are intelligent.
- C: She is pretty.
- D: The boys are blond.

18) Es un trabajo difícil.
- A: It's a hard job.
- B: You all are intelligent.
- C: She is pretty.
- D: These trousers are too tight.
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(continued) Sentence Match Quiz for Category: present_ser_1 
Mark the sentence that matches each item below. 

19) Tío Pablo es inteligente.
- A: These trousers are too tight.
- B: Uncle Pablo is intelligent.
- C: You all are intelligent.
- D: Her eyes are sky blue.

20) Mi hermano es cómico.
- A: She is pretty.
- B: My brother is funny.
- C: You all are intelligent.
- D: Spanish is an important language.

21) Los muchachos son rubios.
- A: The boys are blond.
- B: This shirt is very pretty.
- C: I'm from Mexico.
- D: Spanish is an important language.

22) Ellas son mis hermanas.
- A: This shirt is very pretty.
- B: The burgers are very good.
- C: They are my sisters.
- D: The coin is silver.

23) Nosotras somos bonitas.
- A: We are pretty.
- B: You are tall.
- C: The (female) teacher is thin. (feminine singular)
- D: These trousers are too tight.

24) Las muchachas no son buenas estudiantes.
- A: The girls are not good students.
- B: José is a very calm person, but today he is upset.
- C: You are tall.
- D: Her eyes are sky blue.

25) Las hamburguesas son muy buenas.
- A: The burgers are very good.
- B: It's a hard job.
- C: You are tall.
- D: She is pretty.

26) Él es de Cuba.
- A: He is from Cuba.
- B: You are very funny.
- C: These trousers are too tight.
- D: Uncle Pablo is intelligent.

27) Los ojos de ella son celestes.
- A: Her eyes are sky blue.
- B: She is pretty.
- C: The (female) teacher is thin. (feminine singular)
- D: This shirt is very pretty.
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(continued) Sentence Match Quiz for Category: present_ser_1 
Mark the sentence that matches each item below. 

28) Los zapatos son muy cómodos.
- A: This shirt is very pretty.
- B: José is a very calm person, but today he is upset.
- C: These shoes are very comfortable.
- D: I'm from Mexico.

29) Soy de México.
- A: I'm from Mexico.
- B: The sandal is leather.
- C: You all are intelligent.
- D: You are very funny.

30) El huerto es grande.
- A: The orchard is big.
- B: You all are intelligent.
- C: You are tall.
- D: The (female) teacher is thin. (feminine singular)

31) Los aviones de la aerolínea son grandes.
- A: José is a very calm person, but today he is upset.
- B: The airline planes are large.
- C: The girls are not good students.
- D: You all are intelligent.

32) Es una idea interesante.
- A: My brother is tall.
- B: That's an interesting idea.
- C: You are tall.
- D: You all are intelligent.
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Answer Key for Worksheet 1d08d

Sentence Match Quiz starting on page 1
1 = A , 2 = D , 3 = A , 4 = D , 5 = A , 6 = C , 7 = A , 8 = C , 9 = A , 10 = A , 11 = B , 12 = A , 13 = B , 14 = A , 15 = A , 16 = B ,
17 = A , 18 = A , 19 = B , 20 = B , 21 = A , 22 = C , 23 = A , 24 = A , 25 = A , 26 = A , 27 = A , 28 = C , 29 = A , 30 = A , 31 =
B , 32 = B


